
In vigore dal - Effective from    15-12-202148

MOZZI RUOTA POSTERIORI
REAR WHEEL HUBS

P
N

J

K/L/M

O

I

HG

FED

CBA

Tav. 22



Rif. Cod. REAR WHEEL HUBS ￥

22 Description Tax  included
A 0046.C0C  Mozzo ruota AL Ø 25 x 37 mm AL wheel hub Ø 25x37 mm 0
C 0046.00C ﾎｲﾙﾊﾌﾞ AL/D.30X32 ROOKIE EV AL wheel hub Ø 30x37 mm 16,720
B 0053.C0A  Mozzo ruota AL Ø 25 x 84 mm AL wheel hub Ø 25x84 mm 0
D 0053.B0A ﾎｲﾙﾊﾌﾞ ALU/D.30X80 AL wheel hub Ø 30x84 mm 19,910
E 0053.A0  Mozzo ruota MG Ø 40 x 92 mm MG wheel hub Ø 40x92 mm 0
F 0046.E0 ﾎｲﾙﾊﾌﾞ MAG/D.50X72 MG wheel hub Ø 50x77 mm 26,290
G 0053.E0 ﾎｲﾙﾊﾌﾞ MAG/D.50X87 MG wheel hub Ø 50x92 mm 27,610
H 0053.EA ﾎｲﾙﾊﾌﾞ MAG/D.50X110 MG wheel hub Ø 50x115 mm 37,070
I 0053.F0 ﾎｲﾙﾊﾌﾞ MAG/D.50X140 MG wheel hub Ø 50x148 mm 39,490
J R.P.8X12 ﾜｯｼｬｰ D.8X12 Washer Ø 8x12x2 mm 11
K V.TCE8X30 ｷｬｯﾌﾟﾎﾞﾙﾄ 8x30 TCEI screw 8x30 mm 77
L V.TCE8X35 ｷｬｯﾌﾟﾎﾞﾙﾄ 8x35 TCEI screw 8x35 mm 88
M V.TCE8X40 ｷｬｯﾌﾟﾎﾞﾙﾄ 8x40 TCEI screw 8x40 mm 88
N 0045.00 ﾎｲﾙｽﾀｯﾄﾞﾎﾞﾙﾄ M8 Wheel stud 264
O 0045.A0 ﾎｲﾙｽﾀｯﾄﾞﾎﾞﾙﾄ M8/ｼｮｰﾄ Wheel stud short 264
P 0044.B0 ﾎｲﾙﾊﾌﾞﾛｯｸﾅｯﾄ Wheel hexagonal self-locking nut 220


